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QUESTION 1

In a Tivoli Storage Manager (TSM) server script some commands will be sent to different TSM servers. How can this
requirement be solved?

A. Command routing in server scripts is not possible.
B. Server routing information and label statements cannot be combined.
C. When writing scripts, use the parentheses for server routing information.

D. The colon after the server name indicates the end of the routing information and has precedence over the label
statement.

Correct Answer: D

QUESTION 2

Which device type must be used to define a copy pool that is configured for deduplication?
A. NAS

B. FILE

C. DISK

D. TAPE

Correct Answer: B

QUESTION 3

If a collocated storage pool runs out of scratch tapes, what will occur if data must be written to the pool?
A. The process fails.

B. The process waits for a mount to be satisfied.

C. Data is written to a volume ignoring the request to collocate.

D. The server stops the process until scratch tapes are available.

Correct Answer: B

QUESTION 4
What happens to an archived file that is no longer associated with an archive copy group?

A. The file is marked for deletion.
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B. The file is marked for expiration.

C. The file will be rebound to the grace period defined in the policy domain.

D. The file will be rebound to the longest archive retention period available in the default management
class.

Correct Answer: C

QUESTION 5

A new tape library has been received. The latest driver is installed and the new tape drives are listed as /
dev/rmtX and /dev/smcX using the command:

1sdev -Cc tape

Before defining the device class what is the correct setup for the hardware?

A. Install the Server Tool Library.

B. The Tivoli Storage Manager server sets up the hardware automatically.

C. Define the library, define the path to the library, define drive, and then define the path to the drive.

D. Define the drive, define the path to the drive, define the library, and then define the path to the library.

Correct Answer: C

QUESTION 6

Which statement is true regarding the option PreferDAGPassive in an Exchange Clustered environment?
A. It will only backup databases that are not active.

B. It will only attempt a backup from the passive database.

C. It will backup only the active database if the passive is unavailable.

D. It prioritizes the backup of a passive database over an active database.

Correct Answer: D

QUESTION 7
Under which two circumstances is a directory backup performed?
A. Only for selective backup.

B. Directory permissions changes.
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C. A directory was not previously backed up.
D. If any file within the directory has changed.
E. If DIRMC is specified in the client options file.

Correct Answer: CD

QUESTION 8

Which two steps should be taken to determine a Windows client performance problem?

A. Use auditlogging.

B. Review eventlog entries.

C. Set up a Tivoli Storage Manager server trace.

D. Check for high idle wait, comm wait, or media wait values.

E. Crosscheck the client options with recommendations from the Optimizing Performance document.

Correct Answer: BC

QUESTION 9

Which device information is represented by the alias name mt5?
A. A tape drive on LUN 5

B. A tape drive on SCSI ID 5

C. Atape library with 5 drives

D. The fifth tape in an automated library

Correct Answer: B

QUESTION 10

What happens during the configuration of a spoke server in the IBM Tivoli Storage Manager Operations Center?
A. A new server group will be defined for command routing.

B. An existing server group will be used for command routing.

C. The spoke server will be defined in a new server group for command routing.

D. The spoke server will be added to an existing server group or a new server group will be created.

Correct Answer: D
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QUESTION 11

Which statement is true about the replication rule ALL_DATA_HIGH_PRIORITY?
A. It replicates only active versions with high priority.

B. It replicates only inactive versions with high priority.

C. It replicates active and inactive versions with high priority.

D. It replicates active and inactive versions with high priority excluding archive data.

Correct Answer: C

QUESTION 12

What is the restore for the entire database to a specific date called?
A. Point in Time

B. Most Current State

C. Database Rollforward

D. Transaction Recovery

Correct Answer: A

QUESTION 13

Which command will move data from LTO2 to LTO4 storage pools but only move the LTO2 data if the media is mixed in
one pool?

A. MOVE DATA

B. EXPORT NODE

C. MIGRATE NODE

D. MIGRATE STGPOOL

Correct Answer: A

QUESTION 14
What is specified by the client option managed services schedule?

A. The maximum number of schedules.
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B. That the client acceptor daemon manages the scheduler.
C. That the scheduler will be managed by the operating system.
D. That all schedules will be managed by the Tivoli Storage Manager server.

Correct Answer: B

QUESTION 15

Which three steps must be completed so SERVER-A and SERVER-B can use SSL to communicate?
A. Each server must specify COMMMETHOD SSL in its options file.

B. Each server must be defined to the other specifying the SSL=YES parameter.

C. Both servers must be restarted after configuring the appropriate SSL parameters.

D. Each server\\'s password must be replaced just prior to defining them to each other.

E. The partner certificate of SERVER-B must be manually imported on SERVER-A and that of SERVER_A on SERVER-
B.

F. The administrative ID used to perform the DEFINE SERVER commands must have the same PASSEXP attribute
value on both servers.

Correct Answer. ABC
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